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I Reason for the exception of wine (3"naa instead of y”naa)
a  Rejected suggestion: wine is an improvement over its earlier state (grape)
i Block: olive oil is an improvement
ii ~ Save: there’s no other n>11 available there — can’t say n’1n 19 83, that's the name of the fruit
1 Block: could say n>tn py »a 81 (parallel to 193)
b Suggestion: wine gives sustenance
i Challenge: olive oil also sustains, as per 0’7171 MmwWn w/ n"’s explanation (*9Y 111 %3 — may not have n’t 1nw)
¢ Rather: wine fills you up, unlike olive oil
i Block: wine doesn’t fill you — X171 used to drink lots of wine on 9" to generate an appetite
1 Answer: a small amount satisfies; a large amount makes you hungry
ii  Challenge: wine doesn'’t fill you up, as per v. 1 (bread does)
1 defense: wine both gladdens and sates, bread only sates
2 challenge (77227 to ¥27): we should say full pn n9a after wine
(a) answer: people don’t base a meal around wine (if they do — unusual and doesn’t change norms)
I Revisiting YR1mw 17’s ruling about 1>t 10w — the N>71is y”noa
a  Question: how is it being eaten?
i If asis—itis harmful (no n>M1) - as per distinction between nm n v N>t 1V Y21 and 7o
ii ~ Rather: must be eaten with bread
1 But: bread is the staple, and nan ns1a exempts the not 1w
iii ~Rather: must be eaten with anigron (beet juice)
1 Challenge: anigron is the staple and that 1372 should exempt the oil
iv  Rather: must be drinking 11 10w with 1 for his sore throat, where nt 10w is the 1y
1 Might have thought: since it’s for nX197 — no 271 at all, Y"np that since he gets nxin, needs n>1a
III Dispute regarding the n372 on wheat flour
a N7792:0TINY 27 — DINY M
i ~275RmMW and jI1NY 1 seem to support X”na1 — in their ruling that we say ¥”naa on mr 1w
1 Proving: that even though it's modified, it maintains the n>7a
2 Block: in that case, it can’t get any better (oil); here, it can become bread
(a) However: YRnw ruled that we say 930w on barley flour - wheat flour is ®”naa
(b) 277 both are 930w, but barley flour was neeed —&"10 no n271 at all (worse than salt) — 5"np
IV Dispute regarding the n3172 on hearts of palm
a  N7192:AM 27-it's a fruit
b b97w: HYRnw — it will eventually harden na%n
i Concession: a radish will also harden, but we say ®”naa
ii  Block: people plant the radish for the hard part, not so with a palm tree
1 Challenge: why does intent of planting matter (challenge from a caperbush)
2 Answer: people plant the caperbush for the shoots; not the palm tree for the hearts
V  Tangential discussion re: 95% (caperbush) re: N
a 37 ruled like ™ — only the nvar (berries) are fruit (vis-a-vis 1372 ,mwYn ,n%Y)
i Challenge: why isn’t the bud a »95 9mv, and following v. 2 should be n%1y Dywn Mor
ii ~ Answer: a9mv is only if it remains on the fruit after it is picked (like a peel); not so, here
iii  Final definition of »195 1mw: if by taking it away, the fruit dies (e.g. pomegranate blossom, unlike a
caperbush bud, which, if removed, will not lead to withering of bush)
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